PRODUCT INFORMATION / &S5k

- BEAE  FI-RME

- BUEEER : L(5—>)

- EYEEEE XA [EmHEE

-h3—- 2=

- P9 : YALYNMURTFTUYIL I3V SERRIZEN BEERD
SOZHEEMMBHRITWVLFET

Features / %548

- FT7RSA4T 553 1 ORIE

- J)-ZANTOE/I>MO-IVSRT A

- ZAHEOREICLOHEEINDR BN ] HE

06/2025/v1

%SilentGliss



SYSTEM SPECIFICATIONS / A7 LMft#k

A. SYSTEM
DIMENSIONS /
S AT L SR

B. PROFILE / L—JL

L=V o1&k

C. HOW TO
MEASURE /
BIESE

FITTING / SR E&5H

A. FITTING
INFORMATION /

= T

I3y NEDAIE

SG 2120

T
4 max.— max. k m?
: g.. X
4m 6m 5 kg 16 m2
15 7 6 3
T D
j v
SG 2211 SG 2004 SG 2111 SG 2135
~N)Lrab—=ib N NVAVASS RAIYIL Fr LIV RE=TF1AF =)L
Ovk g 3 mm
- A _ A: BiiE
‘ ‘ B: =
. C: #EFI— RS
7
/ D: ©=J74U74F— SG 10731D&EFRNS150
[ | “ cm EDAIBEZHEE (Fr/ILRE-J71E#)
{7 c
1 ‘J
D
.y
%

SRR EBRICOVTE, HSHASBVEDECE
2L

100 max. 700

L] []
* HARTIE max. 500 mm £2DFE Y,

max. 700 100
.

%SilentGliss



B. CEILING
FITTING /
XHEE

T345yb - SG 3603

C. WALL FITTING /

IEEEEEYIE
A== T35k
- SG 3655,

SG 3660

AN—=NI1YIR
(HENER)

min. 50

CIERRRICEDEER

ge

CIEREECEDEIEM

CRRECZEN

CERIECIZEWN

SG 3655
A=) TS5y hO>d
50 mm

7

[

SG 3660
IAZN-H) TS5y hIFR
30> 65 mm

AX—hJ19IA SG 11200 - SG 11204 &

T3k SG 3603:

WMHEEBG NILMRS SG 10492 (M4x8)

%SilentGliss

Universal Bracket / 1=)C-YI, I35k X mm
SG 3655 58
SG 3660 73
Smart Fix / AX—bI4952 X mm
SG 11200/ SG 11210 80
SG 11201 /SG 11211 100
SG 11202 / SG 11212 120
SG 11203 /SG 11213 140
SG 11204 / SG 11214 170
SG 11156 212 - 240
SG 2120



SG 2120

7

X

;

AY)I7—-AI—-bIJ19IRX SG 11210 - SG 11214

&T5ovh SG 3603:

WHEERG NILMRS SG 10492 (M4x8)

7
I e—

X

IZ)N-BIAI—KIT1yIASG 11156 &

J34yb SG 3603:

BB NILMRS SG 10277 (M4x12)

~) ) PR
N ) \
<<
%{ 62
~y
SG 3603 SG 10277 SG 10492 SG 11200
XAFTSvh +FARRIVIRS M4x12 +F RNV RRS M4x8 AX—RT4wI 2ty 60 mm

~ PN P T
80 S 100 S S o
& / 120 150
A 4' \6AZ \/I \:2 </ \6A2 </ \6‘2
g J (3 J % N P N
16{
SG 11201 SG 11202 SG 11203 SG 11204

AN—=NJ4wIZZyh 80 mm

AN—=RJ1wIXtyh 100

AN—=NIJ1wIRyh 120

AN—=NJ1wIXtzyh 150

607 80"\ S N
L2 > 00 X 1207 X
~16/ I M \16/ I % s \/ I %o \/ I !

o Ne<
SG 11210 SG 11211 5G 11212 SG 11213

ADIT AR —RI4wI Xty b
60 mm

ADIT AR —RI4wI X2y b
80 mm

150/\
/sl 200 \A
29 / \6v2
Ne< N
NS

SG 11214 SG 11156
ANITAR—RNTq4wh Ry 1IZN-HIVAX—RT4vIR
150 mm vk 200 mm

%SilentGliss

ADIFP AR —RI4wIX 2y b
100 mm

ADIT A —RIT1wI X2y b
120 mm



SYSTEM OPTIONS / AT AT 3>

A. FABRIC MAKE- 21T BIBRF 0> T4 VR S1—R294
—UP / V"% TSR A
—L (TL—>Z54) S =T 24— R91 ) A=
J7T0WHD Z94)  ZNITZR9A4). etc)

T EFSE

ML
5 ~“& SilentGliss SG 2120



PARTS / &bamn

A. STANDARD PARTS / %8B

B. OPTIONAL PARTS / A7> 3> 8Ba

SG 2049 SG 2004 & SG 11200
FI-2R347 / BEAAR NV < AN—bIT1yIAZyh 60 mm
SG 2059 SG 2093 " SG 11201
tT-I749U97 / SvITRRby ) g AN=RI49I Xy 80 mm
N—

N
SG 2081 SG 2135 SG 11202

FAIPYTAT=I / A=LFTFR
PN

FrAIRE-TJFT(AF=)LOYE g
3 mm

L\

AN—NI4wH Xy 100 mm

SG 2111 SG 2136 . SG 11203

NAIYIN FrAIRE-J740vRT—T % AX=bRJ1wIZy s 120 mm

SG 2163 SG 2164 . SG 11204

-7 o577 / AN—NI4wH Xy 150 mm

SG 2179 SG 2539 SG 11210

I2RAN— -7 ADIT AN —RI4wIRzyh 60

mm

SG 2211 SG 3069 P SG 11211

A)LaL—IL Fr/ILRE—I74 TALyh /\ ZDIFAI—NI499Z vk 80
$ I mm

SG 2865 SG 3164 2, SG 11212

E—RF1—->0%045— 0 4.6 mn FrLIVRE-071 Jvitzyh A ADITAN—BIT4wIRzZyh 100

(*A9)) < mm

SG 2872 SG 3165 = SG 11213

E—RF1—> 0 4.6 nm

FrAILRE-T71 74Lybhtyh

ADIT AN —NI4wIXyh 120
mm

SG 3055 SG 3603 5. SG11214
S0 RITIY ESTTE S 7SN / ZDTFAR—NI4yI Ak 150
< mm
SG 3340 SG 3660
F3avoIAk 1= X—LT STy R IFANSOS
4 65 mm
SG 3605 SG 10277
I2RAN— +F IR MRSD M4x12
SG 3655 SG 10492

2= —9)LTS4yhO>4 50 mn

+FRNILIRD M4X8

5G 10731

FrAIRE=D07¢ U1+ —tzvh

SG 11156

IAZN=HIAI =R I1vH 2ty bk
200 mm

SG 2120

%SilentGliss



%SilentGliss SG 2120



ML
SG 2120 ~& SilentGliss



	SG 2120
	 Product Information / 製品情報 
	 System Specifications / システム仕様 
	 System Dimensions / システム寸法範囲 
	 Profile / レール 
	レールの情報
	SG 2211
	SG 2004
	SG 2111
	SG 2135


	 How to Measure / 測定方法 

	 Fitting / 設置範囲 
	 Fitting Information / 設置範囲情報 
	ブラケット類の位置

	 Ceiling fitting / 天井設置 
	ブラケット - SG 3603
	SG 3603


	 Wall fitting / 正面壁設置 
	ユニバーサルブラケット - SG 3655, SG 3660
	SG 3655
	SG 3660

	スマートフィックス (補助金具)
	SG 3603
	SG 10277
	SG 10492
	SG 11200
	SG 11201
	SG 11202
	SG 11203
	SG 11204
	SG 11210
	SG 11211
	SG 11212
	SG 11213
	SG 11214
	SG 11156



	 System Options / システムオプション 
	 Fabric make-up / ファブリックの スタイル仕上げ方法 

	 Parts / 部品 
	 Standard Parts / 標準部品 
	 Optional Parts / オプション部品 



